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IDENTITIES

IDENTITIES INVOLVENG BASIC DEFINITIONS AND PYTHAGOREAN RELATIONSHIPS

sin A cot A =cos A
cos A ton A = sin A
cot A sec A = cosec A

sin A sec A = ton A

‘cos A cosec A = cot A

cot A sec A sin A =1
{1 - cos'zA)coseczA = ]
{1 - sfnzA).',ec2A =1

cof2 81 - c0526)= cos26

{1 - cosze).secze = ton28
(1 + ton2a)eosA = 1
(seczA -1 co?zA =]

{1 - cosze)() 4 ron29) = ronze
si'n2A(l + corzA) =]
(coseczA - ])fonzA =
s?nze c0128+ s?n29= !

(1 - cos?ANY + cor?a) = 1
(14 ton2e) (1 - sine) = 1
s?nQGseci,ez sec29 -1
cose:28 1cm26 -1= ronze

1 1

+ =

“sec 2A cosec 2;

1 ! '
.......T_. = }

cos A cot A

o sin A + LA =

cosec A sec A

sec A ton A
cos A cot A
.4 .2
3N o - cos o ZsinTg- )
4
sec o - 1 =2 fonza+ tan4:v
4
cosec o~ 1 =2 cmzo + co!4a

(tana'coseCO)z - (sfn&seco)z =]

(sec Beot 8)2 ~{cr:f cosen 8)2 =}
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'on29 - cotze = secze- coseczu

. 2 :
sinY cot o ]
=

coso tano
2
sec ocotn
= fony
cosec o '

sec €~ tanfsin @ = cos@
ton€+ cot@ = secdcosecd
. ol . .02
{cos@+ sine)” 4 (cos8 - sine)” = 2
{1+ tm‘nB)2 + {1 - ron9)2 =2 sc:29
2
{cote- 1y {coto+ ])2 = 2 ccsec29

sinzA(l - cot A)2+ coszA(l +1on A)2 =2

cong (sec2A - ranzA)+ sZnZA (ccsseczA -corzA) =~

2 4 4
col a+ cot o= cosec 0~ cosec’e

tanza 1+ cof2&

. 2
= s5in osec o

2 2
1+ ton“o cot o
1 1
e =7 sec o
T ~ sina I+ 3ina =
tona tano 2 coscen
= see
seca~ | sec o+ §
!
i e, =1
14 5in"a 1+ cosee” o

{(sec5+cosec @) sine+ cost) = secBeomects 2
{cos@ ~5in0) (zosecf - sec €)= secCcosect~ 2
(Y+cot@+cosect) (14 cot&~coscce) = 2eot @

(sec &+ ton @3- 1) (scc 8-ton g+ 1} =2ten €
2 2

{sin A+ cosecA )2-* {cosA+ sec A)2= tan"Atect“A+ 7

1 +ging
1 ~sing

§6'A 4 2cos2 A - cot A = 1

- .\2
{tuns + secs)” =

{1 +ron2A) (- lan2A) =2 seczA - xecéA

cos:{x +sin3x = {cos x + sin x} {) - sinx cos x)
1

s-Ind)‘/ -2 s?nzjr = cos4y -1

S - c0529

x /scc29 - 1= fcn29

cos @
cos x )+ sinx
v = 2sec x
1 +sinx cos x

.2 2 .
sin A x ton A 4cos“A x col A+ 2ginA x cos A

= tonA + col A
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